Name __________________________________________________  CM____________


ECE 300

Signals and Systems

Exam 3
13 February 2007
NAME  ________________________________________

This exam is closed-book in nature.  You may use a calculator for simple calculations, but not for things like integrals.
Problems 1   ________ / 25
Problems 3   ________ / 25
Problems 4   ________ / 30
Problems 5    ________ / 25
Exam 3 Total Score:  _______ / 100

1. (25 points) The Fourier Transforms of v(t) and x(t) are defined as follows.  
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(a) Find x(t)
(b) Find v(t)

2. (20 points) Graph the magnitude and phase of the transfer function 
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What type of filter is this?

Which aspects of this filter are considered “ideal” and which are not?

3. (30 points) Fill in the following table. Be sure to show all work in the space below
	
[image: image4.wmf]()

yt


	
[image: image5.wmf]()

Y

w



	
[image: image6.wmf]2

2

122

t

j

jt

ee

p

p

-

++


	

	
	
[image: image7.wmf]cos(34)

w

-



	
[image: image8.wmf]cos(4t)u(t)


	

	
	
[image: image9.wmf]2

4

2

4

3

w

-

æö

+

ç÷

èø




4. (25 points) An LTI system has the following transfer function 
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 EMBED Equation.DSMT4  [image: image11.wmf]
The input to the system is given by 
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a) What is 
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b) What is 
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c) What is the energy in
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Some Potentially Useful Relationships
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